.\’

Which of the following Rajput mmamnm %
fought with favour of Rana Pratap in the

According to the census 2011, which of T.

Rajasthan Information Commission is
the following district of Rajasthan has _

|11. Which of the following pair o
e established on i stages of unification of Raj
; : P battle of Haldighati ? (A) April, 2009  (B) June, 2004 relevant dates is incorrect ?
_mm_g _r:,w_m m%w_mmm J_w_w_om&as Wm 1. Ram Singh Tanwar (Ram Saha) (C) April, 2006 (D) May, 2008 | Stages of Dates
(C) Jeipur (D) Bikaner _ 5 Bida Jhala TSI HEAT AR Ht w27 78 , Unification
ST 2011 % uﬁmmﬂ;wﬂ.muwﬁ.ﬂﬁﬁuﬁ _ 3. Rawat Krishandas Chundawat (A) 3%, 2009 Ft (B) 31, 2004 =t (A) Fifth Stage - 15 May, 1949
R et e s e & 7 | 4 Madho Singh Kachwaha (C) 31, 2006 F1 (D) W8, 2008 %t me wﬂm_mwsw? 3 mﬁn”, v
(A) FHAFEE (B) Ieug | Choose the correct answer from the given (D) Fourth mMmu =30 Z”MF.H 1949
(C) Sg (D) ErehrT _ codes 8, Which Article of the Indian Constitution dﬁﬂ%ﬂ#@?ﬂﬂﬁm § e
Who s responsible for planning and (A) 1and3 (B) 2and4 deals with the appointment, tenure, _ : bir
implementation of Mahatma Gandhi d_ (C) 1,2,3and4 (D) 1,2and3 responsibility, pcu:.mn.mzo? salaries and .@?&ﬁﬂﬂm@ FEd ur_..ﬂdwuﬂ,_w 7 U
wwmwsnwfzﬁm_ Employment Guarantee f 15 Faedd S Mﬁwshmﬂ_woum oﬂﬁ B_M%QM %_M _mw_m M T fafy U
(A) District  Rural Development FggRTM AN FuH A AL Y 7 (C) Article265 (D) Article 164 .
Authority (DRDA) 1. iR dR () Rt A B B e T Ay vm=m - 1558 1940
(B) State Government : &y frafa, Frdw, firirad, (B) fgdfm=m - 25914, 1948
©) ossmm.mnw:&a | 2 e T, I SR il & i 2 ©girsm - 25ar, 1949
ﬁﬂ:ov oﬂwhgamﬂ%sgaﬂiﬂﬂ __ & oy VT SFEIERAN (A) ¥TB2207  (B) Iy 162 D =pism - 303, 1949
& s 3R R % fm we g ot TIRTE HETE © 3qBR265 O w164 |12, Who among the following of Rajasthan is
AR R 7 | Rl % s wd gty Al o honoured by Padmashri  awarq
i : I Rajasthan, how many Legislative announced in 2021 ?
(A) Taer amfion fasra wiftssn (DRDA) #ifoa : . . Assembly Constituencies are reserved (A) All of these
(B) T4 HTHR (A) 1TE 3 (B) 214 4 for the candidates belonging to the (B) Arjun Singh Shekhawat
(C) T =TT 2,3W4 (D) 1,263 Scheduled Castes and Scheduled Tribes (C) Lakha Khan
©) 1,2,3w@ ’ respectively ? (D) Sh i
(D) T & 5 ) Shyam Sundar Paliwa]

: . , Rl s e e S — 92021 Haifyg dmu&.mgu@ﬁﬁﬂ
Following battles are mile-stones in 5. Name of birth place of Tejaji is Il Wiy s IR Sy & wi%ig -
_:_mMMN_MMWMwMﬁMM. (A) Dadrewa (B) Khadnal Ifieamt 3 forn sl § - (A) W ]

2. Battle of Bhatner (C) Asind (D) Kolu (A) None of these/ (B) 34, 25 (B) iz S
3. Battle of Sumel-Giri | TR % T e A R © T A m_m (©) smrEn
4. Battle of Haldi-Ghati . 25,34 (D) 36,23
Arrange these battles in correct datewise __ (A) (B) &= ; g | D) R i |
chronological order and choose the _ (C) wrmfg (D) B, 10.  The subject of .Z_..S&Mﬁ RiKhyat'is  |13- Who is appointed as Chairman o i
oreot aupwicE (A) Chauhan of Sirohi |  Rajasthan Human Righes Commission i
Frferfiaa 3¢ T % e d @ | . (B) Hadas of Bundj | Jamuary2021 e
#a. Phooldol festival is celebrated by (C) Sisodiya of Mewar (A) None of these
fom: 2 | (A) ParnamiSect (B) Vallabh Sect (D) Rathores of Marwar | ®cx Vyas
L gRaFIE 2. | (C) Ramsnehi Sect (D) Satnam Sect ISR & RZACLCE _ Mnug Zﬁﬁr.nawﬂ
3. -l #19g 4. TEEEF TG . (A) vl ¥ e | ©) Benwarilal Sharmg
. mwmmwﬁ% G, R | T e w e | 0 2021 % R ey Hafry
MM%@&. | (A) TAH T g (B) Toe 9u gw () ey s R | gﬂgyﬁgﬂf
(A) 1,3,4,2 (B) 1, N_m.w _ (C) TFETE T R (D) HTH 9 gRy (D) TRETE % Tt _ Mw“ Mwm_ww%aa ®) 5. =g
9 vy T3 h. D ‘u—ﬂ.—gﬂ
©) 21,34 O L2 3 104A 104A 3 i e
<




14.

15.

16.

17.

Which among the following statements is

wrong about great poet Suryamal ?

(A) Vansh Bhaskar was his famous Epic.

(B) He described the history of Bundi.

(C) Bravery feelings have emerged from
his poetry. _

(D) He was the resident of Mewar.

e S gEna F A H E A d e @
FUA A2 7

(A) T WL 371 Sftig HETHIA £ | %m

(B) $1 4t % sferers 1 i o |

(C) Tt =i & AgTgll 1 a1 1 3T
gl

(D) & FaTe % framh & |

Which of the following edition of Jaipur

Literature festival was organised from

19 to 28 February, 2021 ? ]
ﬁ%%ﬁ@mﬂﬁ@ﬂm@%ﬂ

T 19 & 28 e, 2021 1 AR

g ?
(A) 13
©) 15

Revolutionaries
Rajasthan gave s
Maro Firangi’
Britishers) ? ;
A) Erinpura Cantonmen

va Neemuch Cantonment (barracks)

(B) 14

(D) 12
of which place of
logan ‘Chalo Delhi !
(Go Delhi ! Kill

19.

20.

(C) Naseerabad OquE:ﬂﬁ:
(D) Khairwada nmsmonﬂnn
et feweft 1 AR fAT 7 T AT AT

3 et A fean on 7
ok = BrAdl

Ramnath Chaudhary is associated with
which musical instrument ?

(A) None of these (B) Algoza

(C) Pungi o (D) U:o_mw
aﬂa&%ﬁmﬁwﬂmﬂaﬁﬁ ?
(A) FHAFETE (B) U

©) (D) &%

21.

;&(JAA [ 7 I

Arrange the heights of following peaks of
Aravali mountain range in ascending
order :

a. Jarga b. Ser

¢. Delwara d. Guru .m:.._ﬁm_,
HUE T H fie =it s FHear
% T hH o HETed i

a. @ b. W

c. femmamen d. Hﬂwﬁ.ﬁ

(A) a,d,b, ¢ (B) a,b,c,d

(C) a,¢,b,d (D) ¢, a,b,d

‘Gulabo Sapera’ is famous in which field ?
(B) Folk Singing

- (A) Sports
(C) Folk Dance (D) Mukhia
e | fom & % fer g 7
(A) & (B) @ TEA
(C) &% J (D) g

If the Chairman/Member of Rajasthan
Public Service Commission intends to
resign, then he/she will give his/her
resignation letter to : .

(A) President (B) Prime Minister

(C) Governor (D) Chief Minister

Ife T W §G1 FEM H:
HOAH A FEAB &A1 e 2, A A
A1 - foRd & ?

(A) Tgdfa (B) SuREH

(C) T=FqTed (D) gEwH

Name the personality who is also known
as ‘Abhinay Bharatacharya’,

(A) Nagabhatta-I

(B) Maharaja Jaswant Singh -1I

(C) Maharana Kumbha

(D) Maharana Pratap

39 AfFaed F A9 qa5¢ 5t 5 e

e’ & A8 @ o T e R |
(A) TrTHE-1
(B) HERIAT FHEAfHE-11
(C) W&o ¥
(D) &R Fdrq
104A

22.

23.

24,

1044

During 24 hours there is a time when
plants neither release O, nor CO,. This is

the time of _
(B) Noon hours _

(A) Twilight
(C) None of these (D) Day light

24 =21 % ERA TET I OF 999 BT & 59
9 71 9t 0, Bred & 1 € CO, | 98 T
Far?

(A) THTHE  (B) THAH

(C) FHA®EFE (D) foam v

When the moon is near the horizon, it
appears bigger because of

(A) Atmospheric refraction

(B) Scattering of light

(C) Total internal reflection ﬂm

(D) Diffraction

& "gan fafew s adfg dan 2, @
% RO =g Wefte g 2 |

(A) FTgHEAT FTadT

(B) T % weholy

(C) ot rmafies wada

(D) faaea

What is the normal amount (approx.) of

haemoglobin in a healthy adult male ?
(A) 2228 gm/100 ml of blood

(B) 6 -8 gm/100 ml of blood

(C) 13- 18 gm/100 ml of blood

(D) 19 -22 gm/100 ml of blood

T () fpet Et 2 2
(A) 22 - 28 7m./100 freft. T
(B) 6-8mm./100 eht.
(C) 13 - 187m./100 freht. T
(D) 19 - 22 71./100 freht. W

25.

26.

27.

|
|
|
U T 995 o5 § Anraied o g og,
|
_
|
_
|
_

5

The word ‘Vaccination® has been derived
from a Latin word which relates to

(A) Hippopotamus (B) Dog

(©) ﬂo;, (D) Horse
AT e UE e e F ogeE 2,
(A) TFEEEE |
(C) ™3

(B) I A
(D) T2 &

Match the following :

a. Apiculture 1. Grapevines
b. Silviculture 2. Honeybees
c. Viticulture 3. Forest trees
= =t firemse -
a. Wkt~ 1. FIpHEH
b. fafeswemt 2. aymEE o
c. fafese= 3. FF-Tde
Codes / $2 :

a b c
(A) 2 3 1
B) 2 1 3
© 1 2 3
D) 3 2 1

w:mmn can be tested in a Diabetes patient
y

(A) Elisa test (B) Denige test

(C) Benedict's test (D) Barford’s test

T Mg oS T e

A FHAR |

A T (@) FEim

© HmTm D) =L

Fruit ripening is stimulated by

(A) mﬁu.._n:o (B) Cyto-kinin

(©) Auxin (D) Gibberellin

Mﬂ AL + T Sgéfa e
|

(A) T (B) Sr-Fref

(€) ¥ (D) fFraifem

odiliitivua vy



29.

30.

Which of the following is the correct
chronological order of the given
dynasties ?

(A) Guptas, Kushans, Nandas, Mauryas
(B) Kushans, Guptas, Mauryas, Nandas
(C) Nandas, Mauryas, Kushans, Guptas
(D) Mauryas, Nandas, Kushans, Guptas

o # | ®9 &1 fou u awE & @
BTG § 2
(A) TR, 9, 75, H
(B) T, 8, 9, 2 mm
(C) =, HHd, T, TR
(D) ¥, 3, 9, T8
. 32.
Match the following :
Harappan Site Place
a. Kalibangan 1. Punjab
b. Mohenjodaro 2. Rajasthan
¢. Harappa 3. Gujarat
d. Surkotada 4. Sindh
Fraferfia 1 gafT X ;
FSHI T L2 Ic
o FEAGE~_ 1. G |
b, drEAdEE 2. TR __
c. &gwl 3. T9Ud |
d. gEee 4. fim |
Select the correct answer using the codes _
given below : h
19 faw w2 % T o AA I |
Codes /%2 : , ‘_
g iletd _
A2 3 4 1 |
B2 4 1 3 |
€ 4 1 a 2 _
@3 2 1 4

6

31.

The Iqta system was provided
institutional status by

(A) Alauddin Khilji

(B) Iltutmish

(C) Qutubuddin Aibak

(D) Balban

31 9T ) W g fRE gr fe
™ ?

(A) FHeT3geH faerstt

(B) segafist

(C) FTIH T

(D) 5o

Consider the following statements :

In the reign of Jahangir, Kandahar could

not be recaptured due to

1. Inefficiency of Mughal army

2. Refusal of Khurram to proceed to
that place.

3. Difficulties in
expedition.

4, Severe cold in Afghanistan

Which of these statements are correct ?

organizing an

(A) 1,2,3and4 (B) 1,2and4
(C) 1,2and 3 (D) 2,3 and 4
frefafiaa sl o faem

FERT % ATEFHI |, FYT T 36 FR0
TH: AR T8 R 71wt

1. T &1 ) S

2. A G IE H WET AR

3, HfwEm s s 8 siemat
4, FHMAEH | 798 33

FH AT A THAGT 2 ?

(A) ,2,3W 4 (B) 1,274 4

(€) 1,2W@3 (DY 2,374

104A

33. The Indian National Army was organized |36.

to fight against
(A) The British in India

(B) Germany and Japan

(C) Russia

(D) South Africa

‘sfegq q9Me sl & TE

flgems g+ % fora fopan ma o |

(A) WA # FUHI

(C) &4 (D) zfeor arhrat

34. What is the correct sequence of the

following events ?

1. Partition of Bengal

2. Jallianwala Bagh Massacre

3.  Quit India Movement

4. Simon Commission Report
frferfiaa wzmai w1 wd FR A2 2
1. =me &1 fare

2. SferErETen 97 FEER

3. WA BIE) AETeH

4. ey HHE e

(A) 1,4,2,3 B) 1,2,4,3y
(©) 4,3,1,2 (D) 15243, 4

35. Bangladesh was liberated on

(A) 17" December, 1971

(B) 14" December, 1971

(C) 15% December, 1971

(D) 16" December, 1971

RLSI T EH A |
(A) 17 fewma, 1971

(B) 14 fegmam, 1971

(C) 15 femmaw, 1971

(D) 16 femmam, 1971
1044

(B) w1 vd WTIHE

e

37.

P

38.

Who out of the following was elected _.uM
the Constituent Assembly as its

permanent President ?

(A) Vallabhbhai Patel

(B) Dr. B.R. Ambedkar

(C) Mahatma Gandhi Y
(D) Dr. Rajendra Prasad

o & forl Afaam a1 g0 396 =
HegEm & =9 5 291 741 41 7

(A) FeeTsaTs 9ee

(B) = &t .3m. FmEEaR

(C) H@Tea e
(D) =1 T 98918

uwddlillivua vyl

The elective strength of the Lok Sabha
was increased by the

(A) 40® Amendment

(B) 44™ Amendment

(C) 31* Amendment

(D) 42™ Amendment

& g = 991 51 et g
qafg s
(A) 403 89igR (B) 449 g9ireH
(C) 31389 (D) 429 g9

The order in which the following
personalities were elected as Presidents
of India 1s

1. S.Radhakrishnan

2. Rajendra Prasad

3. N.Sanjiva Reddy

4. Zakir Hussain

Frfofen sfest & wa 5 o 9

IEF A FIR

L WOewE 2 R

3 W.oElEiEd 4 wfmEn

(A) 2,1,4,3 (B) 2,1,3,4

©2341 @2413« _
<

|




39,

40.

Which Union Ministry of India
developed the Good Governance Index
aiming to map the good governance of
the states based on various indicators ?
(A) Ministry of Parliamentary Affairs
(B) Ministry of Personnel

(C) Ministry of Home Affairs g

(D) Ministry of Finance

wid % fm T gr fafim g9asi m
FUTIE U1 % FOEA B 9 & 3098 F
TITEA G Shiad fan T 2

(A) T9EE SH §HE

(B) Hfis Tarerg

(C) T& e

(D) fo= Fam

Given below are two statements labelled
as Assertion (A) and Reason (R). In the
context of the two statements, which of
the following is correct ?

Assertion (A) : In India, people elect

their own representatives.

Reason (R) : India has democracy.
(A) (A)is false, but (R) is true.

(B) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(C) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).
(D) (A) is true, but (R) is false.
2 fom 0 21 Il #1FGE (A) IR TS
(R) % =9 # fafea fora mn 2 | 21wt
FHed d, FEd IR IR ?
FHUF (A) : 9AA H, FHAA FAH A FH
afafafa g7 2 |
d%m—ﬂv £ nﬂmwnﬂimw_
“(A) (A)FEE 2, TG (R) TR |
(B) (A) @ (R) ZH1 & # 3 (R), (A)
#ad AT R |
(C) (A)TE (R)ZF 7 &, 7 (R), (A)
£ aft sArEm T 2 |
(D) (A)FAR, T (R) FHAR |

41.

42.

43.

Who was the first Vice-Chairman of
NITI Aayog ?

(A) Raghuram Rajan

(B) Piyush Goyal

(C) Nirmala Sitharaman

(D) Arvind Pangaria

e AT % Hom ITAE B o 0

(A) THTSE  (B) Ty e
(C) forden dqmm (D) awfa T

Which Amendment Act of Indian
Constitution extended the reservation for
ten years to SCs and STs in Lok Sabha
and State Assemblies besides doing away
with reservation for Anglo-Indian
Communities ?

(A) 102 Amendment Act, 2018

(B) 104™ Amendment Act, 2020

(C) 105" Amendment Act, 2021

(D) _owa Amendment Act, 2019

W Bfaw & T guiam sty g
e 3R TS R faum e
sgga Wfd T gt S %
FTE 1 U 35T e F S H
T TEA B 78 N1 % fore aqrn w7
(A) 10231 Fome= Ftfufeam, 2018

(B) 1043 Hwig arfrfam, 2020

(C) 1051 H9iv rfufyam, 2021

(D) 1039t Hea= rfufrm, 2019

Which of the following Indian states has
the maximum number of common
borders with other Indian states ?

(A) Madhya Pradesh

(B) Rajasthan

(C) Andhra Pradesh

(D) Uttar Pradesh

Fot e et & 2 2 e sy
Hﬂﬁ%i@%ﬂﬁgﬂﬂwo
(A) FAFA (B) T

(C) =7y wem (D) T w2m

104A
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44.

45,

46.

e —

The widest gap across the Western Ghats is _.G

(A) Bhor Ghat (B) Thal Ghat
(C) Palghat (D) Khandwa Gap
gt 912 % AT FEH Higr faer 2
(A) HRHEE (B) @ =12

(C) T AT

Match the following :
Companies

a. BHEL I
b. HAL 2
c. SAIL 3. Electricals
d. HOCL 4. Aeronautics
Fraferfiga =1 gafem =1 .

Ez it
#raive.
TH.U. T,
TH. T 3780
. 3.6 T,
Codes /%2 :

( a
(A)
(B)
©
(D)

w:m._rw» Nangal, Hirakud and Kosi

projects are situated on the rivers

respectively

(A) Beas, Mahanadi, Godavari

(B) Godavari, Mahanadi, Kosi

(©) Sutlej, Mahanadi, Kosi

(D) Sutlej, Mahanadi, Purna

5@ e, dge sk S g
_ AfewiwRmE

:5 EE. RS, Mrered

(B) Tered, wrra, wrt

(C) v, wamd), it

(D) wees, wgrd), qort

Products
Iron and Steel
Chemicals

31
e 37 3Emm
=
ERicreTe]
TETHITCRE

BN OR O
EPSESEE IO 1=

W R NDT

d
4
7
1
1

S W -
[ I i ]

104A

|
m
_
|

(D) @za faer %

Brominated flame retardants are used in
many household preducts like mattresses
and upholstery. Why is there some
concern about their use ?

. They are highly resistant to
degradation in the environment.

2. They are able to accumulate in
humans and animals.

Select the correct answer using the code

given below :

(A) Neither 1 nor 2 (B) 1 only

(C) 2 only (D) Both 1 and 2

FHIA ST o H1 HE e IeE 3

TE 3 EETE  EEE e

2 _ﬁﬂuﬂan%mwa FTIET F91

27

. 3 waw 3 Befiem 5 3= od
g1

2. % 3mE 3 e @ wehe A g
TR |

RIS RE R kL R

(A) TR 1TA2 (B) F[A1

(C) =12 (D) 173 23Ht

‘Social forestry” term was first used in
India in

YA ¥ T S 92 55 5 a9
R

" (A) None of these/ (B) 1966

Faw
(©) 1976 (D) 1985

Which day is celebrated as the World
Ozone Day ?

(A) 12* December (B) 16™ September
(C) 20® October (D) 21% November

T IRt mm T
(A) 12 g (B) 16 foamaw
(€) 20 =g (D) 21 F9=R

o

U (

\CLAVICIRIR LAY


















122, The length of a rectangle is increased by _Em.
10% and its breadth decreased by 10%.

The area of the new rectangle :
(A) is decreased by 1%

(B) remains constant.

(C) isincreased by 11%

(D) is decreased by 11%

T IATTG 1 HEE B 10% FEET TAT T4
Igeh! SR HI 10% 9@ T | T

57 FTF ;

(A) 1% TR IR |
(B) UHEAM AR |
(C) 11% @A |
(D) 11% T TmTe |

123. If the price of banana is decreased by
20%, 5 bananas more can be purchased
for the same amount ¥ 10. What was the
initial price of one banana ?

(A) None of these (B) 65 paise

(C) 55 paise (D) 50 paise

Iz Fet F FHT BT 20% TN T 2,
I AR T 108 5 Fe 37fed e 7
2 | T FF 1 IR i o oft 2

(A) FHEFETE (B) 6599

(C) 559 (D) 5097

124. 10 men can finish a piece of work in 10
days, whereas it takes 12 women to finish
it in 10 days. If 15 men and 6 women
undertake to complete the work, how

Del & Insert Keys are known as
(A) Navigation keys

(B) Special keys

(C) Function keys

_ (D) Standard keys
T Fget Hiare § Ctr, Shift, Del 3t

H:mnn%w_ﬁ«m\wm_ﬁ._m._ﬂ.wn
(A) seeRFat  (B) fafE f
%m (C) %o el (D) T HAt

126. The average of 5 consecutive even
numbers A, B, C, D and E is 52. What is
the product of B and E ?

5 SUTTd T FEAI3T A, B, C, D T& E %1
3G 52 8 | B T E Sl O fehe1 2 2

(A) 2800 (B) 2900
(C) 2700 (D) 2810

127. If V be the volume and S be the surface
area of a cuboid of dimensions a, b, c,
1
then — is equal t
= qual to

M a, b, ¢ 3T F G 7 3T V 3R
ﬁgmw.ﬁmﬁwﬁﬂw
(A) S(a+2b+3c) (B) 2S(a+ b+ 2c)

(C) S(a+2b+2¢) (D) M.TLLW

_

many days will they take to complete it ? | ROh
(A) 13 days (B) 9 days __
(C) 5 days (D) 10 days 128. A hard disk is divided into tracks, which
10 959 % F14 % B8 1 10 feq & qof ot | are gi@-.__aaoa_mm Crikiay
Ted £, 7t 38 10 fe7 3 qvf 3 & forg | (A) Cloud (B) Heads
12 Afgenait $t sAravaswal &t 2 | =2 Frd | (C) Vectors (D) Sectors
i FR F A ST A 6 AR gard | T B fow ) 3w ferifira fom s
#t oot e A 32 fpa g et 0 | 2, T a1t 39-fanrfra frn T 2 -
@A) 13 ®) 9fa | ) =mE ()
(@] sfea (D) 10fe ‘ (C) TFT 3 (D) T §

20 104A

In a computer keyboard the Ctrl, Shift,

129.

130.

131.

132

133.

104A

e ——

Which is the Linux Operating System ? &
(A) None of these

(B) Private Onmqm::m System

(C) Windows Owﬂmﬂ_:m.mwmﬁma

(D) Open-source Operating System

F1 @1 fora e O 2 2

(A) T4 9 IS &

(B) STEeE FaTeT

(C) favg =T

(D) HH-TH F=TeH A

Which of the following is not considered
as a hardware ?

(A) Hard disk

(B) Operating system

(C) CPU

(D) Keyboard

= 1 & 5w RIS & &9 5 981 A1
IR 2

(A) &Te fewp (B) S=TeH A4

(C) "4, (D) FEE
Computer Monitor is also known as

F AT B %F w9 § ot I
SR |

(A) VDU (B) bVU

(C) CCTV (D) UVD

You organize files by storing them in
(A) Lists (B) Folders _
(C) Archives (D) Indexes

F HEEAI B ¥ sgmm
SafRE 4 2 |

(a) g ®) W=t

(C) T (D) 3T
MS-Word is an example of

(A) An Operating System

(B) An Input device

(C) Application software

(D) A processing device

MS-Word T & &

(A) WETEH T B

(B) FRm R

(C) TAHT FRIR 37

(D) e IR

e
—

134. Which of the following programs enables
you to calculate numbers related to rows
and columns ?

(A) Word program

(B) Window program
(C) Spreadsheet program
(D) Graphics program

|

|

|

“

Mh oy 3 & 9 =1 ST A9 A 3 Hem

$) G &1 T A H gfawm g R 2
(A) 98 TmmH (B) Tave wmm
(C) Trssfe swm™ (D) Wik T

135. What is the maximum length of the base
filename in older MS-DOS FAT file

system ?

T MS-DOS FAT ¥T5a woreft # &@
BIEe 918 Fi FUwan w7 B R 2
(A) None of these / 378 & 1§ T

(B) 4

©)
(D) 8

n

136. LAN stands for
LANFT i sg
(A) Lmne Access Network
(B) Local Area Network
(C) Large Area Network
(D) Land Area Network

—
W
M

operating system ?

(A) To turn off

(B) Restarting computer

(C) Install the program

(D) To scan

SR A i s gm 2
(A) FewE

(©) s $=m@ F
(D) S =

What is the meaning of Booting in the

U (
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138. Which type of view is not present in __a_. Which of the following

139.

140.

MS-PowerPoint ?

(A) Normal

(B) Extreme animation

(C) Slide show

(D) Slide sorter

MS-PowerPoint & fFe W& #1393 (%)

I AE B 7
(A) §H (B) TR THEH
(C) = (D) 133 BI&

Microsoft Office SharePoint Designer is

used for

(A) None of these

(B) A WYSIWYG HTML editor and
web design program for customizing
SharePoint applications, it replaces
Microsoft Office FrontPage.

(C) Project management software to
keep track of events to create
network charts and Gantt charts.

(D) Diagram and flowcharting software.

qEFETR HEE IR femms 6%

foru 3ugm gaT & -

(A) FHEFE T

(B) T WYSIWYG HTML ®41es 3
IATITEE TSI & HEHES HH F
fou 3= feomgs dum, 77 aEFEER
HATEH B0 F =H A2 |

(C) el Iz w R F
AR BT 3% TEH B T A
giwam

(D) ZEuTE #N FHEE F Bieaat

Which of the following is not true about

RAM ?

(A) Information stored in RAM is gone
when you turn the computer off.

(B) RAM is a temporary storage area.

(C) RAM is the same as hard disk
storage.

(D) RAM is volatile.

RAM % fore s & 3 v w4 2

(A) RAM # waifa e =eft a7t &
O FGA R AT AR |

(B) RAM % e wgnmn s |

(C) RAM #é &k sigmoon & gum 1 4 |

(D) RAM 5t & |

22
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142,

143.

is an example of

an input device ?

(A) Printer AWW wﬂw.ssm.:
C) Speaker rojec!

rn 3} HH A 0H, m@_ %1 JETET

1 34

(A) B (B) BH

(C) Tt (D) W

In Rajasthan, the post of Governor is
successor to the Raj Pramukh. On 30"
March, 1949, when Greater Rajasthan
State was constituted, who was made the
Raj Pramukh ?

(A) Maharana Bhupalsingh

(B) Sawai Jaisingh

(C) Sawai Mansingh

(D) Maharao Bheemsingh

THRIA # T F 98 TAHE H
It 2 | 30 9, 1949 #Y, FE FEG

TS T 1 T34 a1 11, 78 T

o T T 7

(A) TR YaTeAfa

(B) BT At

(C) Ham At

(D) TamTa Hinfiz

Consider the following statements with

reference to Lokayukta in Rajasthan :

I Justice LD. Dua was the first
Lokayukta of Rajasthan.

2. Lokayukta shall not indulge in
business.

3. He should be a member of
Parliament or Legislative Assembly.

Which OM the above Mn mcn_.u%n ?

FuA T famm - S

3. B W q fayrr a @1 AeE B

I
siaﬁ#»i?
m)v n.u AWV u.N.u
© 23 ® 1.2
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144. Which of the following pair is incorrect 7 |147. The famous saint of Medieval Mewat was :

145.

146.

1044

(A) Thewa Art - Pratapgarh
(B) Meenakari — Jaipur
(C) Ajrakh Print — Sanganer
(D) Teracotta Art — Molela

[
i

|
‘
_

frefafar s @ s @ gm gafaa a4 2 7 |

(A) 4a1 Hefl - JATITg
(B) drmart - SE
C) ww@fiz - #H
(D) Tt frey —  HiEen

Which of the following is not correctly
matched ?

Tourism Place District
(A) Kailadevi temple - Karauli
(B) Bhatner Fort — Hanumangarh
(C) Menal — Ajmer
(D) Osian — Jodhpur
Freferfiga d 8 #7 @1 gafea 74 2 2

A e _
(A) Fardt Fafw - O _
(B) wzr gl - TR 149.
(€) - R “
(D) sfeat - WU :
In 1903, who imposed *Chanwari® across __
his jagir holdings, which everyone was |
expected to pay at the marriage of their _
daughters ? !
(A) Bhoop Singh _
(B) Rao Krishan Singh _
(C) Rao Prithvi Singh !
(D) Kesan Singh _
w9 1903 § frea 9 i gy § e ™
5 wrran, Fird TR B o & A |
& gy 27 A ot ? _
(A) yfeie ®) Wpwie |
(©) Ty (D) Wi _

23
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_
_
_

(A) Sundardas (B) Charandas
(C) Laldas (D) Hariramdas
O TAE 4919 & J8g 57 4

(A) g==™ (B) IoeH
(C) ==z= (D) Efa=EE

. Read the following facts about the Vijaya

Stambha (Victory tower) of Chittorgarh :

1. This is popular that it was built by
Maharana Kumbha.

2. [Ithastotal 11 storey

3. There is a statue of Jaita carved in it.

Of the above, correct facts are

s Eamoysdfmaais

o -

. = g 2 & W mmww o 3
T ar |

2. whRgELEEEE)

3. sEImEgAEEd

TEFIiEsE

(A) 1.3 (B) 1,2,3

©) 1,2 (D) 2,3

Which of the following arc the
contiguous districts of Rajasthan ?

(A) Sirobi, Barmer, Jaisalmer

(B) Jhalawar, Bundi, Tonk

(C) Sirohi, Paki, Jalore

(D) Churu, Jhunjhunu, Jaipur
it dvsyr s sea e
2

(A) B8, wein, Jmen :

(B) e, 49, 3=

(€) ", v=h, wvel

(D) §¥, ¥, W§

The constitutional status was given to
Panchayats under article -

BT 3T ¥ g vews @ SR
Tt Ry ;

(A) 221

(€) 243 (B) 22

(D) 241
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